{omMnnekTywLwune KOn-BO
bont M8x20 16 wr.
bont M8x30 1 wr.
bont M8x35 2 WT.
bont M8x40 2 WT.
bont M10x40 2 WT.
bont M10x120 (140) 2 WT.
lavika M10 2 LT.
LLiaba 8 21 wr.
LLianba 10 6 LWT.
Lllanba 12 2 LWT.
Brynka @(20-22) L15 1 2 WT.
Brynka @(20-22) L20 2 2 WT.
KpenéxHas nnaHka 3 O T 2 Wr.
(4 M10 KII 100x40x50) \_——

KpenéxHas nnaHka 4 .
(2M8 KIRI 90x20x20 470)

e 1 LUIT.

KpenéxHas nnaHka 5 2 LWT.
(3-4mMm M8 KTIRI™ 85x30x33) -

KpenéxHbivi KpoHLTENH M8 6 ' 1 wr.

KpenéxHbii KpoHLwTenH M8 7 e 1 wr.
€ s

KpenéxHbii KpoHLTENH M8 8 1 wr.

KpenéxHbie Kpbl/ibs 9 2 LUT.

(npaBoe n nesoe)

JAC T6

)

CpegHee Bpems
YCTaHOBKM : 40 MUHYT

BEC KOMNNekKTa 3alunTbl. crasb 2MMm - 18 kr
antoMUHUA 4MM - 12.6 Kr

BEC KOMnneKkTauuu: cTanb - 4 Kr
MOMEHT 3aTXKKN: M8 - 15.0 Hm
M10 -29.0 Hm

MpoussecTn cMasky KpenéxHbiX
OOATOB MACAOM UAU APYTOM
KOHCEpPBALUWOHHOW XXUAKOCTBIO.

apr. 56.03 - 56.06

Je




